#### THE COUNCIL IS RECOMMENDED TO RESOLVE AS FOLLOWS

- 1. That the following be approved:-
  - (a) the revised revenue estimates for the year 2014/2015 and the revenue estimates for 2015/2016.
  - (b) the revised capital budget for the year 2014/2015 and the capital programme for 2015/2016.
- 2. It be noted that on the 9<sup>th</sup> January 2015 under a delegated decision the Council calculated the Council Tax Base based on information held as at the 30<sup>th</sup> November as required by legislation for 2015/16 as follows:-
  - (a) For the whole of Council area as 34,454.49 [Item T in the formula in Section 31B of the Local Government Finance Act 1992, as amended (the "Act")] ; and
  - (b) For dwellings in those parts of its area to which Parish precepts relates as attached in Appendix C.
- 3. Calculate that the Council Tax requirement for the Council's own purposes for 2015/16 (excluding Parish precepts) is £208.38.
- 4. The following amounts be calculated for the 2015/16 in accordance with Sections 31 to 36 of the Act:

(a) £53,870,294	being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(2) of the Act taking into account all precepts issued to it by Parish and Town Councils. (This expenditure includes the government tariff payable in respect of business rates of £11,855,957)
(b) £46,435,009	being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the Act. (This income includes business rates baseline funding of £13,985,640).
(c) £7,435,285	being the amount by which the aggregate at 4(a) above exceeds the aggregate at 4(b) above, calculated by the Council in accordance with Section 31A(4) of the Act as its Council Tax requirement for the year. (Item R in the formula in Section 31B of the Act).
(d) £215.80	being the amount at 4(c) above (Item R), all divided by Item T (2(a) above), calculated by the Council, in accordance with Section 31B of the Act, as the basic amount of its Council Tax for the year (including Parish precepts).
(e) £255,537	being the aggregate amount of all special items (Parish precepts) referred to in Section 34(1) of the Act (as per the attached Appendix B).
(f) £208.38	being the amount at 4(d) above less the result given by dividing the

its area to which no Parish precept relates.

amount at 4(e) above by Item T (2(a) above), calculated by the Council, in accordance with Section 34(2) of the Act, as the basic amount of its Council Tax for the year for dwellings in those parts of

- 5. To note that the County Council, the Lancashire Police and Crime Commissioner and the Fire Authority have issued Precepts to the Council in accordance with Section 42A of the Local Government Finance Act 1992 for each category of dwellings in the Council's area as indicated in the table below.
- 6. That the Council, in accordance with Sections 30 and 36 of the Local Government Finance Act 1992, hereby sets the aggregate amounts shown in the tables below as the amounts of Council Tax for 2015/16 for each part of its area and for each of the categories of dwellings.

#### **South Ribble Borough Council**

Valuation Bands									
A B C D E F G H									
£138.92	£162.07	£185.23	£208.38	£254.69	£300.99	£347.30	£416.76		

#### **Lancashire County Council**

	Valuation Bands										
A B C D E F G H											
£753.19	£878.72	£1,004.2 5	£1,129.78	£1,380.84	£1,631.90	£1,882.97	£2,259.56				

#### **Police and Crime Commissioner for Lancashire**

Valuation Bands									
A B C D E F G H									
£106.04	£123.71	£141.39	£159.06	£194.41	£229.75	£265.10	£318.12		

#### **Lancashire Combined Fire Authority**

Valuation Bands									
A B C D E F G H									
£43.24	£50.45	£57.65	£64.86	£79.27	£93.69	£108.10	£129.72		

- 7. In accordance with Section 59A of South Ribble Borough Council's Council Tax Support Scheme. That Council determine the reduction in Council Tax Support applicable to working age claimants with effect from the 1<sup>st</sup> April 2015 as being £ 3.50 per week.
- 8. South Ribble Borough Councils basic amount of Council Tax for 2015/16 is not excessive in accordance with principles approved under Section 52ZB Local Government Finance Act 1992.

### **APPENDIX B**

Council Tax Schedule	Council Tax Schedule Bands							
2015/16	Α	В	С	D	E	F	G	Н
South Ribble Borough Council	£138.92	£162.07	£185.23	£208.38	£254.69	£300.99	£347.30	£416.76
Lancashire County Council	£753.19	£878.72	£1,004.25	£1,129.78	£1,380.84	£1,631.90	£1,882.97	£2,259.56
Lancashire Police Authority	£106.04	£123.71	£141.39	£159.06	£194.41	£229.75	£265.10	£318.12
Lancashire Combined Fire Authority	£43.24	£50.45	£57.65	£64.86	£79.27	£93.69	£108.10	£129.72
Total Unparished Areas	£1,041.39	£1,214.95	£1,388.52	£1,562.08	£1,909.21	£2,256.33	£2,603.47	£3,124.16
Farington	£15.96	£18.62	£21.28	£23.94	£29.26	£34.58	£39.90	£47.88
Farington and South Ribble BC	£154.88	£180.69	£206.51	£232.32	£283.95	£335.57	£387.20	£464.64
Farington Total	£1,057.35	£1,233.57	£1,409.80	£1,586.02	£1,938.47	£2,290.91	£2,643.37	£3,172.04
Hutton	£15.88	£18.53	£21.17	£23.82	£29.11	£34.41	£39.70	£47.64
Hutton and South Ribble BC	£154.80	£180.60	£206.40	£232.20	£283.80	£335.40	£387.00	£464.40
Hutton Total	£1,057.27	£1,233.48	£1,409.69	£1,585.90	£1,938.32	£2,290.74	£2,643.17	£3,171.80
Longton	£5.10	£5.95	£6.80	£7.65	£9.35	£11.05	£12.75	£15.30
Longton and South Ribble BC	£144.02	£168.02	£192.03	£216.03	£264.04	£312.04	£360.05	£432.06
Longton Total	£1,046.49	£1,220.90	£1,395.32	£1,569.73	£1,918.56	£2,267.38	£2,616.22	£3,139.46
				_				
Penwortham	£11.49	£13.40	£15.32	£17.23	£21.06	£24.89	£28.72	£34.46
Penwortham and South Ribble BC	£150.41	£175.47	£200.55	£225.61	£275.75	£325.88	£376.02	£451.22
Penwortham Total	£1,052.88	£1,228.35	£1,403.84	£1,579.31	£1,930.27	£2,281.22	£2,632.19	£3,158.62
Much Hoole	£10.84	£12.65	£14.45	£16.26	£19.87	£23.49	£27.10	£32.52
Much Hoole and South Ribble BC	£149.76	£174.72	£199.68	£224.64	£274.56	£324.48	£374.40	£449.28
Much Hoole Total	£1,052.23	£1,227.60	£1,402.97	£1,578.34	£1,929.08	£2,279.82	£2,630.57	£3,156.68
Little Hoole	£14.99	£17.49	£19.99	£22.49	£27.49	£32.49	£37.48	£44.98
Little Hoole and South Ribble BC	£153.91	£179.56	£205.22	£230.87	£282.18	£333.48	£384.78	£461.74
Little Hoole Total	£1,056.38	£1,232.44	£1,408.51	£1,584.57	£1,936.70	£2,288.82	£2,640.95	£3,169.14
Samlesbury and Cuerdale	£6.88	£8.03	£9.17	£10.32	£12.61	£14.91	£17.20	£20.64
Samlesbury and Cuerdale and South Ribble BC	£145.80	£170.10	£194.40	£218.70	£267.30	£315.90	£364.50	£437.40
Samlesbury and Cuerdale Total	£1,048.27	£1,222.98	£1,397.69	£1,572.40	£1,921.82	£2,271.24	£2,620.67	£3,144.80

## Appendix C

# **Parish and Parish Precepts**

		2014/15			2015/16			
Parish/ Town Council	Precept	Tax Base Band D Equivalent Properties	Band D Equivalent	Precept Precept	Tax Base Band D  Equivalent  Properties	Band D Equivalent		
	£		£	£		£		
Farington	50,000	2,024.7	£24.70	50,000	2,088.55	£23.94		
Hutton	21,000	861.5	£24.38	21,000	881.79	£23.82		
Longton	23,200	2,935.6	£7.90	23,200	3,032.07	£7.65		
Penwortham	127,600	7,276.8	£17.54	127,600	7,404.78	£17.23		
Much Hoole	9,000	683.0	£13.18	11,237	691.01	£16.26		
Little Hoole	17,500	726.2	£24.10	17,500	777.99	£22.49		
Samlesbury &Cuerdale	5,000	484.2	£10.33	5,000	484.29	£10.32		
Total	253,300	14,992.0		255,537	15,360.48			